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(2) Question 1 is compulsory. %
(3) TFigures to right indicate ful ma1ks.
1 Answer in Short : //\\ 10
. (1)  What is explicit c 1% //
(2) Write down the co d/ 0 give SELECT and
UPDATE pnﬁllege to ta i emp to user vnsgul.
(3) What is the fur\cf f/pnor () attribute ? — ,
5 49) What is schema 7/ "
G, What i databasé 11gger ’7 Can we invoke explicity.?
- (6) Wh table s@ace.
o (7) List‘ou lependent objects in RDBMS/
. &) [ At out the three restrictions on updatable view.
) hat'is old pseudo row used for in trigger ?
(10 e methods for end a transaction in oracle.
\ Do as’ dnected 157 f
\ a) hat is DBA ? Dlscuss the basw duties of DBA. 5 ;

// ﬁ ) %hat are the range searching and pattern matching 5

)| operators in oracle ? Explain with syntax and suitable

\\\ // example.

R‘-._1;188,3], ¥ 1 [Contd...:

i

http://GCET.AtoZrhath.com — GCET MCA, MBA Online Exam Preparation



http://VNSGU.AtoZmath.com — BCA @88 Paper, Programs

(c) Write a PL/SQL code block that will accept an. - 5 _~
employee number from the user and deduct a salary //k
by Rs. 2000 from the inputted employee if the , f'//i}\
employee has a salary less than 1000 after salary is x
deducted then display user defined message //\

"SALARY LESS THEN 1000", (

The process is to be fired on the emp table. /‘/&‘\ /)

(Table emp : (empno, name, salary)) ( *
OR

2 Do as directed :
- (@ Define term RDBMS. List out codd's
followed by RDBMS. Explain any thr

(b) What is concurrency control ? Exqféipz\EQcp iét e _ 5

— . B . X . \ S geo™ . Lo
‘concurrecy control in detail \Vltb/,\gakfamglfe}v“‘

(© In itemmaster table there is itemno which is a 5

concatenation of the month én% mber generated

\ [
by sequence. ‘

05 ;\Qﬁrated with 01 is

month and 005 is quence g

For e.g itemno

Insert the values mth itemno coloumn of

Itemaster using seéueﬁ%&\
\\7;/“ )
3 Do as directed — 15
(a) Explain ﬁestegt\g*hﬁ
A\ N = OR

™ 7. ¢
s/with example. ‘ 5
(a) What is Gx\?igég ?{nd Revoking ? Write down the 5

syntax for GRANT & REVOKE. Also write appropriate
command to'give permission to user VNSGU2 to update
and insert aecords from emp table original owner of -
‘table. emp is VNSGU1. "
emp table and solve foliowing query : : - 5
Display name and year and day of joining in

ords. '
Find out the employee whose name is exactly of
five digit and their name starts with "N" and =
end with "N". o o
\\\7 //"/‘ (1) Calculate annual salary of all employées and add

// ﬁ Rs 5000 as commission.
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